MA 103

Lesson 28 Board Problems

Solving Systems of Equations with Row Reduction

1. A candy store sells milk chocolate, dark chocolate, and white chocolate, and white chocolate.  Three prepackaged mixtures are sold:

· [image: image1.wmf]A 4-pound box of chocolate containing 2 pounds of milk chocolate and 1 pound each of dark and white chocolate.  This package costs $41.00.

· A 4-pound box of chocolate containing 2 pounds of dark chocolate and 1 pound each of milk and white chocolate.  This package costs $44.00.

· A 4-pound box of chocolate containing 2 pounds of white chocolate and 1 pound each of milk and dark chocolate.  This package costs $47.00.

How much does each type of chocolate cost?
2. A nutritionist is planning a meal and wants to make certain that it contains an adequate amount of protein. The ingredients of the meal that contain protein are milk, cheese, and eggs.  Given the following information on protein content, calorie content, how much of each food should the meal contain if it is to have 80 grams of protein, 1450 calories, and cost $2.20?
	100 GM Units of
	Calories
	Grams of Protein
	Cost (in Dollars)

	Milk
	50
	4
	0.20

	Cheese
	600
	24
	0.6

	Eggs
	200
	28
	0.80


